
www.portorlighting.com Specification subject to change without notice 1/1

WARNING: FAILURE TO FOLLOW THESE INSTRUCTIONS AND WARNINGS MAY RESULT IN DEATH, SERIOUS INJURY OR 
SIGNIFICANT PROPERTY DAMAGE. FOR YOUR PROTECTION, READ AND FOLLOW THESE WARNINGS AND INSTRUCTIONS 
CAREFULLY BEFORE INSTALLING OR MAINTAINING THIS EQUIPMENT. THESE INSTRUCTIONS DO NOT ATTEMPT TO 
COVER ALL INSTALLATION AND MAINTENANCE SITUATIONS. IF YOU DO NOT UNDERSTAND THESE INSTRUCTIONS OR 
ADDITIONAL INFORMATION IS REQUIRED, CONTACT THE MANUFACTURER.
IMPORTANT SAFEGUARDS: WHEN USING ELECTRICAL EQUIPMENT, BASIC SAFETY PRECAUTIONS SHOULD ALWAYS BE 
FOLLOWED, INCLUDING THE FOLLOWING:

When re-lamping, only use lamps specified in the exit sign. Using other lamp 
types may result in transformer damage or unsafe conditions. Battery in this unit 
may not be fully charged. After electricity is hooked up to unit, let the battery 
charge for at least 24 hours. Normal operation of this unit should then
take effect (when applicable).

• Do not use outdoors.
•  Equipment should be mounted in locations and at heights where it will not be subject to tampering by 

unauthorized personnel.
• Do not mount near gas or electric heaters.
• Cap unused wires with enclosed wire nuts or other approved method.
• Do not use this equipment for other than its intended use.
•  The use of accessory equipment not recommended by the manufacturer will void warranty and may cause an 

unsafe condition.
• Before wiring to power supply, turn off electricity at fuse or circuit breaker.
• Use caution when servicing batteries.
• Installation and servicing should be performed by qualified personnel.
• Consult local building code for approved wiring and installation.
• Make sure wire terminations are secure and leads are properly tucked in appropriate wire channels.

Choose mounting configuration (end, top or back mount). Plug remaining holes with the appropriate color plugs.
1. Secure canopy bracket to ceiling or wall.
2. Open the housing cover.
3. Secure housing and canopy with screws (see mounting configuration).
4.  Feed the AC input leads (red, black, white) through the housing and canopy’s center hole. Connect AC input leads to AC power supply leads. Connect the red lead to a 277VAC power supply 

or the black lead to a 120VAC power supply and the white lead to neutral.
5. Secure canopy into canopy bracket with 1-1/2” long #8-32 screws, then insert battery terminal wire into two-pin male connector.
6. Connect battery only after continuous AC power can be provided to the unit.
7. Snap housing cover into place.
8. Apply chevron directional indicators as required. Remove application templates when finished.

NEVER CONNECT TO, DISCONNECT FROM, OR SERVICE WHILE EQUIPMENT IS ENERGIZED.

Lamps are hot. Keep combustible material away from hot parts. Observe lamp 
manufacture’s warnings, recommendations and restrictions on lamp operation 
and maintenance. Make sure lamps are correctly installed.

(ALWAYS TURN OFF THE POWER SUPPLY FROM MAIN CIRCUIT BREAKER FIRST!)

IMPORTANT

WARNING

WARNING

INSTALLATION

WIRING DIAGRAM

READ THESE INSTRUCTIONS COMPLETELY AND CAREFULLY

PT-EXL-EDL SERIES
(PT-EXL-EDL-1-R-CLR-AL) (PT-EXL-EDL-2-R-MIR-AL)

INSTALLATION
INSTRUCTIONS

SIDE MOUNT
1.  Secure canopy to end plate of fixture 

using mounting holes C and E with (2) 
3/4” #10-24 screws (included).

2.  Run connection wires through large hole 
between mounting holes C and D.

3.  Make electrical connections and mount 
canopy to junction box (or spider plate 
if required) using the two recessed 
mounting holes and (2) 1-1/2” #8-32 
screws (included).

CEILING MOUNT
1.  Secure canopy to top of fixture using mounting 

hole A with 3/4“ #8-32 screw and hex nut, and 
1/2” center hole (between mounting holes 
B and C) with threaded nipple and hex nuts 
(included).

2. Run connection wires through threaded nipple.
3.  Make electrical connections and mount 

canopy to junction box (or spider plate if 
required) using the two recessed mounting 
holes and (2) 1-1/2” #8-32 screws (included).

WALL MOUNT
1.  Mount canopy to junction box (or spider 

plate if required) using the two recessed 
mounting holes and (2) 1-1/2” #8-32 screws.

2.  Run connection wires through large hole in 
center of canopy.

3.  Secure fixture to canopy with (2) 3/4” #10-
24 screws (included) by going directly into 
mounting holes A and C.

4. Make electrical connections.

RISK OF ELECTRIC SHOCK

RISK OF FIRE


